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*Count by
*Quick Pictures



Count by 2's
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What is the connection between these two sets?
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Tuesday
*Count by
*Guess My
Rule



Jameson

Zander

Bao

Owen

Amila

tup by 2's

Tayah

Aichelle

Ambrose

Lily

Gracie

TeArio

Miranda

Greyson

Sarah

Hank

Mila

Skylar

Axel
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Wednesday
*Count by
eSame or
Different,
WODB



Count by 2's- (write pattern vertically and look for patterns






X -

3, 6,9 12 3x4



A £

Ox5 9+9+9+9+9
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Thursday
*Count by
*Splat



Start at 38. Count up by 2's

Finn Bao Tayah

Jameson Owen Aichelle

Zander Amila Ambrose

Lily

Gracie

TeArio

Miranda

Greyson

Sarah

Hank

Mila

Skylar

Axel



The total number
of shapes is...

plat!

X

lat? How do
you know?

:

else could
you know?

N

many shapes
are there.

|

an we learn
om this picture?
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Friday
*Count back by
*Esti-Mysteries



Start at 100, count back by 2

Jameson Owen Aichelle

Finn Bao Tayah

Zander Amila Ambrose

Gracie

Lily

TeArio

Greyson

Miranda

Sarah

Hank

Skylar

Mila

Axel



Steve Wyborney

How many blocks are in the vase?

As the clues appear, use the
information to narrow the
possibilities to a smaller set. After
each clue, use estimation again to
determine which of the remaining
answers is the most reasonable.

Write down your first estimate.
After each clue, you’ll see if your
estimate is still a possibility. After
each clue, if it is no longer possible
write down a new estimate — and
be prepared to explain why you
chose it.

www.stevewyborney.com
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Clue #1
The answer is an odd number that
is less than 60.
You can cross off 2, 4,6, 8
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Clue #1
The answer is an odd number that
is less than 60.
You cancross off 2, 4, 6, 8

Clue #2
If you look carefully you can see a
yellow block with the number 3.

The answer includes the digit 3.
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Clue #1
The answer is an odd number that
is less than 60.
You can cross off 2, 4, 6, 8

Clue #2
If you look carefullv you can see a
yellow block with the number 3.
The answer includes the digit 3.

Clue #3
The answer does NOT have the

same digit in the ones and the tens
lace.
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Clue #1

The answer is an odd number that
is less than 60.

You can cross off2, 4, 6, 8, ...

Clue #2
If you look carefully you can see a

yellow block with the number 3.
The answer includes the digit 3.

Clue #3

The answer does NOT have the
same digit in the ones and the tens
alace.

Clue #4

Look carefully for the red block.
You might even see 2 of them. The
answer does not include the digit 4.
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Clue #1
The answer is an odd number that
is less than 60.

Youcancrossoff2, 4,6, 8, ...

Clue #2

yellow block with the number 3.
The answer includes the digit 3.

Clue #3
The answer does NOT have the
same digit in the ones and the tens
alace.

Clue #4
Look carefully for the red block.
You might even see 2 of them. The
answer does not include the digit 4.

Clue #5
The answer is not 35, 37, or 39.
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